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SECTION-A
i) General Awareness

Who is the first female Chief Justice of
India ?

(A) Indira Banerjee

(B) Kiran Bedi

(C) Fathima Beevi

(D) None of these

Which Article deals with the procedure
for Amendment of the Indian Constitution ?

(A) Article 352
(B) Article 355
(C) Article 365
(D) Article 368

Which among the following terms does
not get a place in Constitution of India ?

(A) Cabinet

(B) Attorney General

(C) Budget

(D) Comptroller and Auditor General

What is the full form of WWW ?
(A) World Web Wide
(B) Web World Wide
(C) Wide Web World
(D) World Wide Web

Cartographer is associated with which
of the following ?

(A) Stamps
(B) Voter Cards
(C) Maps

(D) Census

6.

10.

7, Race Course Road, the official
residence of Indian Prime Minister is
commonly known as

(A) Anugraha
(B) P.M. Bhawan
(C) Chitra Niwas
(D) Panchavati

The longest river in the world is
(A) Amazon

(B) Nile

(C) Ganga

(D) Mississippi

Which of the following is a part of the
electoral college for the Election of the
President but does not participate in the
proceedings for his/her impeachment ?

(A) Rajya Sabha

(B) Lok Sabha

(C) State Legislative Assemblies
(D) State Legislative Councils

MOSSAD is the intelligence services of
which country ?
(A) France
(C) Germany

(B) lIsrael
(D) Japan

Name the Article inthe Indian Constitution
that prohibits discrimination on the basis
of caste, religion, gender or race.

(A) Article 21
(B) Article 42
(C) Article 17
(D) Article 15
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(A) World Web Wide 9. MOSS‘ADﬁ?H%&TﬁqW@HT%?
(B) Web World Wide (A) i (B) z&TES
(C) Wide Web World (C) st (D) A
(D) World Wide Web 10. 9 Gfeum %1 97 e Sared
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(C) wHfeE (C) T3 17
(D) SHTUMET (D) =BT 15
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12.

13.

14.

15.

Which of the following lake(s) is/are
located in Odisha ?

(A) Chilika
(B) Kolleru
(C) Dal

(D) Pulicat

Which problem of human body can be
treated by the process of Dialysis ?

(A) Pancreas
(B) Kidney
(C) Lungs
(D) Liver

The Rowlatt Act was passed in the
year

(A) 1916
(B) 1917
(C) 1918
(D) 1919

What is the maximum permissible time
gap between two sessions of Parliament ?
(A) 3 months

(B) 9 months

(C) 12 months

(D) 6 months

After the Chauri Chaura Incident was
called off by the Gandhi which among
the following movements ?

(A) Non-cooperation Movement
(B) Civil Disobedience Movement
(C) Kheda Satyagraha

(D) Swadeshi Movement

16.

I £

18.

19.

20.

Where is the Leaning Tower of Pisa
located ?

(A) Greece
(B) ltaly

(C) Armenia
(D) Vatican

“Convention on Biological Diversity”
is also denoted by which among the
following ?

(A) COP 10
(B) COP 15
(C) COP 21
(D) COP 19

Which one of the following books was
not written by Jawaharlal Nehru?

(A) Discovery of india

(B) Glimpses of World History
(C) An Autography

(D) India of My Dreams

The first Indian woman to preside a
Session of Indian National Congress
was

(A) Vijayalakshmi Pandit
(B) Annie Besant
(C) Kamala Nehru
(D) Sarojini Naidu

The Mahadayi Water Disputes is among
which of the neighbor States ?

(A) Maharashtra & Goa

(B) Goa & Karnataka

(C) Karnataka & Kerala

(D) Karnataka & Tamil Nadu
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12.

13.

14.

15.

fafafiaa 1 9 FR-di 3ite anfem o fem
&1

(A) Tafers

(B) ®ici®

(C) ==

(D) gferhe

SR g AHa Y i fora aae =
ITa foman st & 2 7

(A) FHAETEH
(B) I
(C) ¥%e
(D) FFd

etz rfufay fora ad & wifta o e 7
(A) 1916 |
(B) 1917

(C) 1918

(D) 1919

HEE & a1 WA & s AUwaH IgHa
ST TR 7

(A) 37

(B) 9TIE

(C) 129E

(D) 69

< = e & e faefafea § @ foa
eI i et grr s ey T ?

(A) STHEANT TETeH

(B) afeTa gawm Mg

(C) WelgaamE

(D) Te3ft 3rEeE

16.

17,

18.

19.

20.
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ffe st okt B HIMR el oA
(A) |

(B) et

(C) mAfF

(D) afew=

“ g fafaua w omie fafafaa @ 9
forereh g gt ST @ 7

(A) COP 10

(B) COP 15

(C) COP 21

(D) COP 19

frafofiaa & @ FR-H T AT
5% Z e foreht g 7

(A) Tempadl a1ie sfe

(B) oy a1% I feed

(C) T Tl

(D) sfean 31t wig iy

I TSR R o STeaH i STeas
F Tt U AR Afge Fi ot ?
(A) fosaeredt ufga

(B) Wt siEe

(C) el I5&

(D) wfsHt Trrg

Tererl e faare fomm uedt ot % =
?7

(A) HERTSZ 3R e

(B) T3 3 FACH

(C) TS 3N

(D) FATes 3R afteTg.
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21.

22.

23.

i) Mental Ability and Reasoning Ability

Statement :

These sweets are too expensive to be
bad.

Conclusions :
I. Higher the selling price, superior is
the quality of the commaodity.

Il. Whenthere is scarcity of a commodity,
the prices go up.

(A) Only conclusion | follows

(B) Only conclusion I follows

(C) Both | and Il follows

(D) Neither | nor Il follows

Statement :

Winner's don’t do different things. They
do things differently.
Assumptions :

I. Doing things differently matters a
lot.

ll. Slow and steady wins the race.
(A) Only assumption | is implicit

(B) Only assumption Il is implicit
(C) Either | or il is implicit

(D) Neither | nor Il is implicit

Statements :

Some hens are crows.

All crows are horses.
Conclusions :

|. Some horses are hens.

Il. All hens are horses.

(A) Only conclusion | follows
(B) Only conclusion Il follows
(C) Either | or Il follows

(D) Neither | nor Il follows

24. How the figure looks like when folded
into a cube along the marked lines ?

1

@ -®
»y <P

3
(A) 1and4 (B) 3and 4
(C) 1and 2 (D) 2and 3

25. All of us, plus half of us and quarter of
us and you alone taken together equal
71. How many are we really ?

(A) 70 (B) 60
(C) 50 (D) 40
26. Find out the missing number.

6 4 5

8 |38|5 12| 2|13 10{18| 8
2 3 4

(A) 9 (B) 11

(C) 17 (D) 24

Direction for Q. No. 27 - 31 :

An ironsmith has five iron articles : P, Q, R, S
and T. P weighs double that of Q. Q weighs
four and half time that of R. R weighs half
that of T. T weighs less than P but more than
R. S is heavier than R.

27. Which one is lightest of all ?
(A) P (B) Q
(C) R (D) S
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U : 24. Taf=q @i & 919 O S W uek 59 |
3 fuarsal wue B & o st meft # | e Fa T oo ¢
e -
. 3= foska Yo eF | axq it U

off 3+ & ST Bt B | |
Il v a5 & F=Hft B R, A g 5

ST R | 1. 2, @

(A) e Fred | STE e 2
(B) Fae fsad || 1gETor T 2
(C) | 3R |l ST STFET LA &

(D) a1 T Il 7T T B

HYA
Torstem a7erm @ o 7 &, 3 IS i 3T
o I T |

1. =fSil ! 37eT T8 | FHH 1 T8 Beh
gedl g |

I, ffmr ST e e S O BT R |

(A) Hae QELRON | A e 2

(B) heiet JHUROT || S Bl

(C) AN | || AT Arelt R

(D) 17 I S e R

COCE

S qATal e € |
ot PR R E |

ey :

| FS RS gRTATE |

Il axfigffai e 2 |

(A) HIS | STTET FAT B

(B) et |1 STTE0T FAT
(C) TN | 3T || SFLET HLAT &
(D) A4 17 || SFTE FAT B

25.

26.

sy R

(A) 13K 4 (B) 33 4
(C) 13 2 (D) 233

T AT, THT ST TR THR N SR gH
Hohed T ST &4 © 71 HE1 ® | 9 Ind
o a2 7

(A) 70 (B) 60
(C) 50 (D) 40
T TEAT I74 |
6 [4] 5|
8 |38|5 121 2 |13 i0|18]| 8
2 3 \i
(A) 9 B) 11 |
(C) 17 (D) 24

WY §EAT 27 - 31 % fog fde
T IR & 9 919 dle il S P, Q, R, S
INTREIPHITH QI PR | QFH I5H

R ¥ 9 91

2| R&FT I T ST |

THIHPEFI TG RY AFR IS, RA

T 3
27.

I -6 Gl TohT 8 7
(A) P (B) Q
(C) R (D) S
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28.

29.

30.

31.

32.

33.

T is lighter than which pair of other
objects ? -

(A) P,Q
(C) P,R

(B) S,R
D) S,Q

T is heavier than which pair of other
objects ?

(A) S,Q (B) S,R

(C) P,R (D) P,Q

Which one of the following is heaviest ?
(A) P (B) Q

€) R (D) S

What is the descending order of their
weights ?

(A) PQTSR
(C) RPSQT

(B) QSTPR
(D) PQSTR

Choose the word which is least like the
other words in the group.

(A) January
(B) May

(C) July

(D) November

In a class of 60, where girls are twice
that of boys, Kamal ranked 17t from the
top. If there are 9 girls ahead of Kamal,
how many boys are after him in the rank ?

(A) 3 (B) 7

(C) 12 (D) 23

How many such pairs of letters are there
in the word ‘PREAMBLE’, each of which

has as many letters between them in the
word as in the English alphabet ?

(A) 1 (B) 2
(C) 3 (D) None

35.

36.

37.

38.

39.

40.

Truck, goods and train can be
represented by

(A)

(B)

(D)

00O,

Anil introducing a girl in the party, said,
“She is the wife of the grandson of my
mother.” How is Anil related to the girl ?
(A) Father (B) Grandfather
(C) Husband (D) Father-in-law

If ‘46321’ is written as ‘55412’ how is
‘34572’ written in the same code ?

(A) 43663 (B) 45663

(C) 44653 (D) 45653

Find the missing letters which will
complete the series.

_ _bcda _ _cdab _ _dabc _ _

(A) abcdabed (B) aabbccdd

(C) ababcdcd (D) dcbadcba

Find the missing number in the sequence .
5, 13,25, 7, 61

(A) 3t (B) 42

C) 4 (D) 45
Cardiology : Heart : : Nephrology :
(A) Lungs (B) Kidney

(C) Muscles (D) Brain
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29.

30.

31.

32.

33.

T aegeni h e gma g 2 7
(A) P, Q. (B) S,R

(€} B, R (D) S, Q

T 3= aegati % R gm A vl & 7
(A) S,Q (B) S,R

(C) P, R (D) P,Q
fafafed & 8 $H-81 g9 W 2 7
(A) P (B) Q

(C) R D) S

IF TS F HA FH F R 7
(A) PQTSR (B) QSTPR
(C) RPSQT (D) PQSTR

THE T 98 WeQ I 11 hH § FH FHE B |
(A) SHed

(B) =

(C) e

(D) TE=

60 T <6t T &l H, TRl Sl e
I 2 | S EIH SR A 1731 © 13f8
FA o W 9 wiefFAt §, Ot frah e
30k T o S 8 7

(A) 3 (B) 7

(C) 12 (D) 23

7155 ‘PREAMBLE’ T 37871 o féhe U gm
® foreh e o 39 &t snew R fSram siosh
JUHTATH & 7

(A) 1 (B) 2

(C) 3 (D) I3 &

35.

36.

37.

38.

39.

40.
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T, G SETE g g

T HFHAT 2 |

(D)

sfia ard # v sl &1 9= &9 g
el © “ I8 W AT 1 9id H I ® 7
31t 369 T ver gafiq & 7

(A) fomr (B) =TT

(C) dfd (D) &g

Ifg ‘46321’ =1 *55412' for@n Sian 8,
34 F2 ¥ ‘34572 Y foren smom ?

(A) 43663 (B) 45663
(C) 44653 (D) 45653
T G FTA L S GG Hl Qo H |

__becda_ _cdab __dabc

(A) abcdabcd (B) aabbccdd
(C) ababcdcd (D) dcbadcba

FH H e T 919 |

5,13, 25, ?, 61

(A) 31 (B) 42
(C) 41 (D) 45
Wﬁﬁ'ﬁ:w : :Wﬁﬁlﬂ:
(A) FHS (B) Th
(C) (D) ufers®
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41.

42.

43.

44,

45.

i) Numerical Aptitude and Data Interpretation

What should be the maximum value of
B in the following equation ?

5A9 — 7B2 + 9C6 = 823
(A) 5
B) 6
C) 7
(D) 9

Three numbers areintheratio1:2:3
and their HCF is 12. The numbers are

(A) 4,812
(B) 5,10, 15
(C) 10, 20, 30
(D) 12, 24, 36

The scores of five students in a class
test were 90, 72, 55, 63 and 60. What
is the average score of the students ?

(A) 65 (B) 68
(C) 70 (D) 62

Ifa—b=3anda? + b? =29, find the
value of ab.

(A) 10
(C) 15

(B) 12
(D) 18

If Jx =441 = 0.02, then the value of
X is

(A) 0.1764
(C) 1.64

(B) 1.764
(D) 2.64

46.

47.

48.

49.

50.

The sum of three 6onsecutive even
numbers is 36. What are three numbers ?

(A) 14, 16, 18

(B) 8,10, 12

(C) 12,14, 16

(D) 10,12, 14

If one-third of one-fourth of a number is
15, then three-tenth of that number is
(A) 35 (B) 36

(C) 45 (D) 54

At present, the ratio between the ages

of Arun and Deepak is 4 : 3. After
6 years, Arun’s age will be 26 years.
What is the age of Deepak at present ?

(A) 12 years
(B) 15 years

1
(C) 19 > years

(D) 21 years
If 3*°Y = 27 and 3**Y = 243, then x is
equal to
(A) O (B) 2
(C) 4 (D) 6
What percent of a day is 3 hours ?
1 2
—% 16—=%

2 1
—-oo 22_0/9
(C) 18.% (D
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iii) AT hiviel v gret fAdeEa

frferfaa wfisror o B &1 stfeeran o
FR?

5A9 — 7B2 + 9C6 = 823

(A) 5

(B) 6

C) 7

(D) 9

= 9= 11 2 : 3% AT U © S ITH
HEY 12 ® | §EAT0 §

(A) 48,12

(B) 5,10, 15

(C) 10, 20, 30

(D) 12,24,36

e vt 8 ute Rrenfiat 6 araies wo
90, 72, 55, 63 31 60 ? | fe=nfelai i
3 IFTFH T2 7
(A) 65

(C) 70

(B) 68

(D) 62
afta-b=33M a2 +b2=29 T abFH
T T % |
(A) 10
() 15

(B) 12
(D) 18
afe Jx /441 =0.02, A1 x FTHE 2

(A) 0.1764 (B) 1.764
(C) 1.64 (D) 2.64

46.

47.

48.

49.

50.

<19 SHHTTE GH GEAT3T w4 36 ® | 98
o H | |

(A) 14,16, 18

(B) 8,10, 12

(C) 12,14, 16

(D) 10,12, 14

Jfe U BT % UH-A19TE & U —Tars
152, @ sa gen # ¥, 2

(A) 35 (B) 36
(C) 45 (D) 54
FAHH H, 3T0] I & =hi 3R 1 I

4:3% |64 MR, I A I’Y 26 A9
Bt | SdE & <ien Y foRat ey R 7

(A) 1298
(B) 15

1 .
(©) 19 5 =¥
(D) 2199

Ife 3%y = 27 3 3%V = 243, AT x T

2

(A) 0 (B) 2
(C) 4 (D) 6
s & o1 fopem wfewa 3R g 2 7

1, 2
—% 16 =%
(A) 122/ (B) 3 o

2 1
(C) 185% (D) 22-2-%
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51,

52.

53.

54.

55.

12=

If Rs. 782 be divided into three parts,

proportional to & : e : g, then the first
2 3 4

part is

(A) Rs. 182
(B) Rs. 190
(C) Rs. 196
(D) Rs. 204

A man completes goi a job in 10 days.

At this rate, how many more days will it
take him to finish the job ?

(A) 5
(B) 6
C) 7
1
@) 73

A, B and C can complete a piece of
work in 24, 6 and 12 days respectively,
working together they will complete the
same work in

1 7
(A) 5, day (B) 55 day
(C) 3~?-_days (D) 4 days

In how many ways can the letters of the
word ‘RUMOUR'’ be arranged ?

(A) 180 (B) 90

(C) 30 (D) 720

Two cards are drawn together from a
pack of 52 cards. The probability that
one is a spade and one is a heart is

3 29

A 55 (B &5
47 13
© 75 (B} =

6.

ST

58.

59.

60.

Find the odd man out.

385, 462, 572, 396, 427, 671, 264
(A) 385 (B) 427
(C) 671 (D) 264

If HEALTH is written as GSKZDG, then
how will NORTH be written in that code ?
(A) OPSUI

(B) GSQNM

(C) FRPML

(D) IUSPO

A class of boys stands in a single line.
One boy is ninteenth in order from both
the ends. How many boys are there in
the class 7

(A) 27
(C) 38

(B) 37

(D) 39

A car which cost Rs. 1,20,000 is
discounted at 5%. What is the discount ?
(A) Rs. 6,000

(B) Rs. 8,000

(C) Rs. 4,000

(D) Rs. 7,000

Insert the missing character.

5 21 51
16 [109] 2 22 |53| 19 17 | 2 | 48

\i 15 13
(A) 7

(B) 25

(C) 49

(D) 129




51.

92.

53.

54.

55.
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Ifg %. 782 =1 o WAT H wier U, S
1:g:§ ‘Eﬁ,?ﬁ‘ﬁ?ﬂﬂm%

2 3 4

(A) %.182

(B) %. 190

(C) ®.196

(D) %. 204
@wﬁ@mmgmw i d
F A g | S I, 3 FE @A FE A
fopaan femr of & 7
(A) 5
(B) 6
€) 7

1
(D) 75
A, B 3T C & %/ %l 24, 6 3R 12 feAi
T HUTT: YU A Wehd © | T |1Y T

3 & fei & gof =63 |
1
(A) Eﬁq (B) %ﬁq
(C) S%ﬁq (D) af=
3ee ‘RUMOUR’ & 3187 fora ol d
SyaTerd fohu ST gehd £ 7
(A) 180 (B) 90
(C) 30 (D) 720
52 qret Y et § <1 919 F Ux UF "Iy
fepret STd 2 | v % T o 3w e
1 2 ) griasar | R 7
3 29
(A 55 B) 3
47
G ©®) o5

56.

87.

58.

29.

60.
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T 3= BT |

385, 462, 572, 396, 427, 671, 264

(A) 385 (B) 427

(C) 671 (D) 264

Ife HEALTH ® GSKZDG Terar s

NORTH 1 3¢t %2 # #71 for@ 7

(A) OPSUI

(B) GSQNM

(C) FRPML

(D) IUSPO

TeH U F TR G H @ R |

ASH TSI 3T I=Eat 2 | e ° fpad

aeH & 7

(A) 27 (B) 37

(C) 38 (D) 39

%. 1,20,000 F19ad I UF FE H 5% i

e Iwmgewe?

(A) %. 6,000

(B) %. 8,000

(C) ®.4,000

(D) %. 7,000

T T {1 |
H 21 —5—1

16 [109| 2 22153] 19 17 | 72 | 48
6 15 13

(A) 7

(B) 25

(C) 49

(D) 129
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61.

62, °

63.

64.

65.
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iv) Hindi Language and Comprehension

&= v sy

‘i iwiE I IR

‘arerfa’ fore aaTE = auEue @ 7
(A) o Aegeq

(B) T AeIEN

(C) HeY deqey

(D) wesiie

AT Y, T a R
(A) faumars
(B) I=RMETEH
(C) HeEaTas
(D) fmeuar=

e A g |

(A) F% 39TH SHRA R |

(B) q%M Sgd 4%l 1 & |

(C) draract &€t gH-4m™ § TS S ® |
(D) 3T § SR SETF |

66.

67.

68.

69.

70.

4 3 foraes e ?

(A) &3

(B) Afir
(C) ArTEz
(D) =g &

B 1 faetim vres 2
(A) dien
(B) T

(C) %

(D) =%

“FAN-FIT ITed TH H G 7Y B
(A) TeTaR-hs™

(B) e[ -TEHR

(C) rq=uft-firaeeft

(D) Torasrit-srgezf

e | IR ST
(A) FU=

(B) raas

(C)

(D) 9gHTR

319 STl F1 N 7 T8
2l

(A) F<EaTEH
(B) AT
(C) T=BE=F
O BEICEIEES

ElES]
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72.

73.

74.

75.

=15-

T I8 T T watErE A8 2 7
(A) g

(B) TR

(C) Fwag=n

(D) farsoueh

T | R0 1 sEEn fbe v
B ?
(A) 2
(B) 3
(C) 4
(D) 5

Safifs’ w faem sse 2
(A) TEHTYE

(B) HBm

(C) IH=R

(D) =15 &

& AR I F o= i femn

(A) AfeehT

(B) 3&r=h

(C) wr=it

(D) 3
frafafad & @ - wee sezwe &
Hed qE AT ?

(A) 37

(B) AR

(C) fwg

(D) ATFAT

76.

77

78.

79.

80.
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frferiaa & & fore o © wiemE 2 7
(A) =7 f= & s |

(B) @i &1 @I fgers |

(C) U= fimy |

(D) =R T |

GetaH hl HeATawdT 91 Bt ¢
(A) F=ta

(B) =

(C) ¥=h

(D) X

Torm e & w2 7
(A) Hiargaet 2 |

(B) Hied ST R |

(C) TS R |

(D) TH %A W 2 |

‘g ER Iee 1 wfu-fa=de B
(A) : + TN

(B) & + THR

(C) &Y +TFR

(D) =FH + THR
Hreeaer %1 faug 2

(A) Hem 2 st wa

(B) et 2 Fme

(C) e #ue

(D) et FHe
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v) English Language and Comprehension
ISR W SR Ay

Read the following sentences and from among
the options choose the best replacement for
the underlined part of the sentence.

81. My daughter came up with chicken pox
just before her final examination.

(A) came on with
(B) came out with
(C) came in with
(D) came down with

82. Many fully grown trees are being grubbed
in to make way for the construction of
wider roads.

(A) grubbed out
(B) grubbed off
(C) grubbed into
(D) grubbed against

Pick out the most effective word from the
given words to fill in the blanks to make the
sentence meaningfully complete.

83. Thetrains have alot over the
years, the journey used to be dreadful,
now it is just mildly

(A) declined, offensive
(B) improved, unpleasant
(C) civilized, insufferable
(D) developed, bitter

84. | felt that he was interest in
our tiny world and might at any time

his visits entirely.
(A) reducing, stop
(B) scattering, discontinue
(C) tossing, reject
(D) losing, abandon

-16-

Each question gives a word foliowed by four
choices, select the most suitable synonym
(word which means the same) for the main
word and mark its letter as your answer.

85. Belligerent
(A) bellicose
(C) amorous

(B) acrimonious
(D) incessant

86. Cadence

(A) incarnation (B) proclivity

(D) cascade

Each question has a word followed by four
choices. From the choices, identify the one
which is opposite in meaning (antonym) to
the main word and mark its letter as your
answer.

(C) intonation

87. Subjugate
(A) jettison
(C) enlighten

(B) articulate
(D) emancipate

88. Eulogy
(A) diatribe (B) malady
(C) anomaly (D) malodour

Add suitable question tags to the following
statements.

89. She can’t deny you a seat, ?
(A) will she (B) couldn’t she
(C) can she (D) won’t she

90. Rashi is a brave girl, ?
(A) is she (B) isn’t she
(C) isit (D) wasn't she



Read each sentence to find out whether there
is any error in it. The error, if any, will be in
one part of the sentence. The letter of that
part is the answer.

91. Further testing/of the ashbed yielded twelve/
(A) (B)
more skeletons by an area no larger/
(C)
than an average sized living room.

(D)

92. Beside it being/a stress buster, Gassical music/
(A) (B)

helps children develop/ various
(©)
functions of their brain.
(D)

93. More than any other nation/in the world,
(A) (B)
JaparV/ crowded on mountainous islands
(C)
with little arable land/looks at the sea
for sustenance.

(D)

94. Over time, minerals/ have concentrated
(A) (B)
in the salt lake/ and its water is two and
(C)
half times/salty as the ocean.
(D)

17-
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Which of the options (A), (B), (C) and (D)
given below should replace the underlined
phrase in the following sentences to make
the sentence grammatically correct 7

95. The both the cousins reside in the same
house.

(A) The both the cousins reside
(B) Both of the cousins reside
(C) Both the cousins reside

(D) Both of the cousins resides

96. | sent the invitation as | found his
address.

(A) as | found his address

(B) as and when | found his address
(C) no sooner | found his address
(D) as soon as | found his address

Give one word substitute for the following
from among the choices given below them.

97. The inescapable agent of someone’s
downfall.

(A) nemesis (B) prototype
(C) bast (D) pompous
98. Shrubs and trees growing close
together.
(A) sparka (B) rusta
(C) thicket (D) anthophagous

Replace the underlined part with the
appropriate idiom from the given options.

99. My wife’s sense of precaution always
makes us carry a lot of unnecessary and
unwanted things for every vacation.

(A) adog's breakfast

(B) under false pretences

(C) everything but the kitchen sink
(D) a white elephant

100. You can certainly rely on him, he does
what he promises.

(A) makes good the loss

(B) is a man of his word

(C) gives others a big hand

(D) lets bygones be bygones
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101.

- 102.

103.

104.
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SECTION -B
Post Specific Subject — Related Questions

The proceéses through which information
coming from the senses is transformed,
reduced, elaborated, recovered and
used is termed as

(A) Connation
(B) Cognition
(C) Behaviour
(D) Affect

is/ are a process which consists
of keeping items of information in the
centre of attention by repeating them
silently or aloud.

(A) Processing
(B) Repetition
(C) Rehearsal
(D) All of the above

Important class of language symbols
used in thinking are

(A) Construct
(B) Variables
(C) Concepts
(D) Pictures

The strategy where we identify problems
just as they begin to develop and stop
them before they become severe is
called

(A) Primary prevention
(B) Secondary prevention
(C) Both (A) and (B)

(D) Tertiary prevention

105.

106.

107.

108.

109.

Identify the disorder where the distress
and uneasiness are persistent, painful
and spread across multiple situations.

(A) Panic disorder

(B) Generalized anxiety disorder
(C) Obsessive compulsive disorder
(D) Phobic disorder

The fundamental technique people use
to allay anxiety caused by conflicts

(A) Projection
(B) Rationalization
(C) Sublimation
(D) Repression

The cognitive rearrangement of both
information from the environment and
the symbols stored in long term memory is

(A) Thinking

{B) Retention
(C) Cognition
(D) Reasoning

Tendencies to behave in relatively
consistent and distinctive ways are
called

(A) Concepts
(C) Traits

(B) Ideas
(D) Theories

The Therapy which includes a variety
of techniques for stimulating of self
awareness and feelings of personal
responsibility for one’s actions is called

(A) Existential Therapy
(B) Gestalt Therapy

(C) Behavioural Therapy
(D) Narrative Therapy
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110.

111.

112.

113.

114.

Systematic desensitization works by
conditioning a new response to a
previously feared stimulus is called

(A) Extinction
(B) Shaping
(C) Flooding
(D) Reinforcement

The Therapy designed to reveal and
break down irrational beliefs that lead
to distress

(A) Rational Emotive Therapy
(B) Psychodynamic Therapy
(C) Client Centered Therapy
(D) Psychoanalytic Therapy

Drawing a conclusion based on too
little evidence or no evidence at all is
called

(A) Selective abstraction
(B) Generalisation

(C) Arbitrary inference
(D) Magnification

A problem is posed, a period follows
during which no apparent progress
iIs made and then the solution comes
suddenly is termed as

(A) Vicarious learning
(B) Latent learning

(C) Insightful learning
(D) Imitation learning

The psychologist who developed the
influential theory that stressed the
cognitive nature of all learning

(A) P.Paviov

(B) B.F. Skinner

(C) Edward C. Tolman
(D) Wilhelm Wundt

118,

116.

117.

118.

119.

“Culture and Society” is the work of
the sociologist

(A) B.N. Seal

(B) Louis Dumont
(C) G.S. Ghurye
(D) lravati Kharve

The term instrumental conditioning was
coined by

(A) Edward Thorndike
(B) B.F. Skinner

(C) Lev Vygotsky

(D) Stanley Hall

The branch of psychology which
describes and studies the physical
mental and social behavioural
changes that occur with different age
groups is called

(A) Clinical psychology
(B) Development psychology
(C) Social psychology
(D) Counselling psychology

It is a method in which variables being
studied are controlied by the investigator.
Identify the appropriate scientific
research method.

(A) Historical method
(B) Experimental method
(C) Survey method

(D) Field study method

The research concerned with search for
ways of using scientific knowledge to
solve practical problems.

(A) Pure research

(B) Applied research

(C) Explanatory research
(D) Exploratory research
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110.

111,

112

113.

114.
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120.

121.

122.

123.

124.

-29.

Who is considered to be the most
prominent figure of Indian Renaissance ?

(A) Swami Dayanand Saraswati
(B) Raja Ram Mohan Roy

(C) Mahadev Govinda Ranade
(D) Swami Vivekananda

Which are those groups whose members
have members from different status
groups ?

(A) Horizontal groups

(B) Reference groups

(C) Vertical groups

(D) Membership groups

The research which measures the
effectiveness of an action programme
is termed as

(A) Experimental research
(B) Evaluation research
(C) Qualitative research
(D) Exploratory research

One of the following forms does not
come under the probability sampling
method

(A) Multistage

(B) Quota

(C) Simple random
(D) Cluster

It refers to getting information from
books, reports, documentations and
journals

(A) Primary data

(B) Secondary data

(C) Primary and Secondary data
(D) None of the above

129,

126.

127.

128.

129.

The measure of dispersion is/are
(A) Range

(B) Interquartile deviation

(C) Standard deviation

(D) All of the above

Pilot study is done to

(A) Test the research tools
(B) Create Hypothesis
(C) Identify the problem
(D) Draw the sample

Emotion includes the following distinct
component

(A) Subjective experience
(B) Physical arousal
(C) Behavioural response
(D) Ali of the above

The psychologist who developed a
pioneering theory of children’s cognitive
development

(A) Albert Bandura
(B) Jean Piaget
(C) William James
(D) Erik Erikson

sees a near harmony of

purpose from norms and values.
(A) Futilitarianism

(B) Socialism

(C) Communitarianism

(D) Structural functionalism
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130.

131.

132.

133.

134.
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Get along with one’s siblings may
prepare one for getting along better with
others children. This is an example of

(A) Observational learning
(B) Transfer of learning
(C) Vicarious learning
(D) Cognitive learning

The mind or mental component of man
emerges out of

(A) Human communication

(B) Mathematical communication
(C) Symbolic communication
(D) None of these

Emotions such as joy, anger, sadness
and fear are called

(A) Primary emotions

(B) Secondary emotions

(C) Self conscious emotions
(D) None of the above

Itis a style of parenting in which parents
set limits and enforce rules

(A) Authoritarian
(B) Authoritative
(C) Permissive
(D) Neglectful

The principle/s of working with the
elderly as identified by United Nations
is/are

(A) Self fulfillment
(B) Dignity

(C) Participation
(D) Ali of the above

135.

136.

137.

138.

139.

140.

Ability to understand the feelings and
emotions of others is called

(A) Social awareness

(B) Self awareness

(C) Self management

(D) Relationship management

One of the following is not a principle of
group work practice

(A) Guided group interaction
(B) Planned group formation
(C) Continuous individualisation
(D) Domination

The goal of group work is to facilitate
(A) Stability (B) Change
(C) Insight (D) Promotion

Physically, mentally challenged
children often have skill deficits that
can be remediated with clinical skills
such as

(A) Assertiveness

(B) Problem solving
(C) Communication
(D) Al of the above

Basic counselling skills required of a
counsellor are

(A) Listening and Advising
(B) Listening and Referring
(C) Listening and Empathy
(D) Listening and Negotiating

Child Welfare System includes
(A) Foster care

(B) Adoption

(C) Family preservation

(D) All of the above
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The ability to adapt to new situations
in a creative manner is termed as

(A) Experiential intelligence
(B) Contextual intelligence
(C) Componential intelligence
(D) Crystallised intelligence

Discharge and after care planning is
one of the primary roles of

(A) Public Health Worker
(B) Researcher

(C) Community Social Worker
(D) Medical Social Worker

Social workers employed in prisons
focus on

(A) Treatment

(B) Education

(C) Rehabilitation
(D) None of the above

When the clinical social worker uses
a theoretical framework in which the
family is conceptualized as a single
client unit we call it

(A) Group therapy

(B) Family therapy

(C) Solution focused therapy

(D) Humanistic therapy

The Clinical Social Worker in schools,
medical and rehabilitation centres
carries out

(A) Psychological
(B) Social

(C) Comprehensive
(D) Psychosocial

146.

147.

148.

149.

150.

Groups meant to use group interaction
and programme activities to modify
behavioural responses of members are
called

(A) Recreational

(B) Educational groups
(C) Social action groups
(D) Remedial groups

United Nations General Assembly
proclaimed Universal Declaration of
Hurman Rights in the year

(A) 1947 (B) 1948
(C) 1949 (D) 1950

The power of a court to entertain a
petition or proceeding and execute such
order as may be consequently passed

(A) Jurisdiction
(B) Conviction
(C) Legislation
(D) Precedent

theory proposes that people
who age successfully are those who
carry forward the habits, preferences,
lifestyles and relationships from midlife
into late life.

(A) Activity theory

(B) Continuity theory

(C) Disengagement theory
(D) Reliability theory

It refers to maintaining a coherence in
interpreting any situation

(A) Anaiytical skill
(B) Observation
(C) Leadership
(D) Communication
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A major requirement for mastering the
art of communication is

(A) Subjectivity
(B) Clarity

(C) Objectivity
(D) Sensitivity

The planning for forming a group in
particular should focus on

(A) Size of group

(B) Composition of group

(C) Nature of group

(D) All of the above

Learning through imitation and
observation is termed as

(A) Modelling
(B) Role playing
(C) Epitome
(D) Action

The report first recorded by the police
relating to the commission of a
cognizable case is called

(A) FIR (B) SIR
(C) DIR (D) MIR
Who was awarded the Noble Prize in

Economics for his contribution to
Welfare Economics ?

(A) T.N. Srinivasan
(B) Amartya Sen
(C) Kaushik Basu
(D) Raghuram Rajan

156.

157.

158.

159.

160.

G 000 R

is a social work value and also a
therapeutic technique.

(A) Self determination
(B) Acceptance

(C) Individualisation
(D) Attending

is a tool for getting complex
data organised for assessment and
intervention.

(A) Assessment
(B) Discussion
(C) Ecomap
(D) Interview

Expressing repressed emotions in a
safe environment frequently relieves
tension. This process is called

(A) Communication

(B) Kinesics

(C) Catharsis

(D) Proxemics

is not maintained where there is
risk of suicide or danger that the client
may harm others.

(A) Mindfulness
(B) Confidentiality
(C) Individualisation
(D) Judgement

A process through which one gets
control over resources, opportunities
to exercise political power to reach the
goal is called

(A) Empowerment

(B) Supremacy

(C) Dictatorship

(D) Monarchy
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Which policy was adopted by Government
of India in the year 1974 ?

(A) National policy on education
(B) National policy for children
(C) National policy on disability

(D) National policy empowerment of
women

is a loss of the ability to produce
or comprehend language.
(A) Lisping
(B) Cluttering
(C) Aphasia
(D) Dysarthria

Which of the following is/are the reasons
for young women to opt for prostitution ?
(A) Opportunities in films

(B) Monetary benefits

(C) Employment

(D) All of the above

is the general mental capability
that involves the ability to reason, plan,
think abstractly, comprehend ideas and
learn.

(A) Achievement
(B) Aptitude
(C) Intelligence
(D) Reasoning

The is the ultimate interpreter
of the constitution as well as the laws of
the land and is the court of appeals for
the nation.

(A) High Court

(B) Coroners Court

(C) Supreme Court

(D) Administrative Court

166.

167.

168.

169.

170.
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Symptoms such as ideas of reference,
feelings of persecution, suspiciousness
and rigid opinions and attitude are seen
in a condition called

(A) Depression
(B) Hypomania
(C) Paranoia

(D) Schizophrenia

Enabling factors of empowerment are
(A) Employment

(B) Education

(C) Both (A) and (B)

(D) Achievement

The Indian Constitution was framed by
the Constitution Assembly and came
into effect from 26" November in the
year

(A) 1948

(C) 1950

(B) 1949
(D) 1951

The first legislation to regulate the
employment of children and their hours
of work was the

(A) Factories Act 1881
(B) Factories Act 1896
(C) Factories Act 1948
(D) Factories Act 1987

Token Economy developed by Allyon
and Azrin is an example of

(A) Resource Management
(B) Operation Management
(C) Contingency Management
(D) Asset Management
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Cognitive Therapy is a/an
therapy that emphasises recognising
and changing negative thoughts and
maladaptive beliefs.

(A) Practical Therapy

(B) Applied Therapy

(C) Insight Therapy

(D) Integrative Therapy

Which of the following approach assumes
that an individual’s life is influenced by
family, school, work environment and
culture ?

(A) Humanistic Approach
(B) Systems Approach
(C) Symbolic Approach
(D) Structural Approach

A home is an example of

(A) Primary territory

(B) Secondary territory

(C) Public territory

(D) Primary and Secondary territory

The Persons with Disabilities Act was
initiated in the year

(A) 1995
(C) 1997

(B) 1996
(D) 1998

An impairment of the articulation of
speech sounds, fluency and voice is
called

(A) Voice disorder

(B) Speech disorder
(C) Fluency disorder
(D) Articulation disorder

176.

177.

178.

179.

180.

Carl Roger’s Client Centered Therapy
has been of immense influence in the
field of

(A) Psychotherapy

(B) Group therapy

(C) Family therapy

(D) Couple therapy

Social relations in urban areas are
characterised by

(A) Anonymity

(B) Impersonal relations
(C) Both (A) and (B)
(D) None of the above

Which of the following are the most
primitive types of societies ?

(A) Pastoral societies

(B) Hunting and gathering societies
(C) Agrarian societies

(D) Non-industrial societies

is/are the first and important
agencies where socialisation process
begins.
(A) Neighbourhood
(B) School
(C) Community
(D) Society

______is a skill which is available to all
of us except those who are impaired in
the specific ability.

(A) Leadership

(B) Listening

(C) Analysis

(D) Observation
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Status that is obtained by an individual
by his or her efforts is called

(A) Ascribed status
(B) Achieved status
(C) Social status

(D) Deserved status

The main objectives for forming self
help groups is to

(A) Rehabilitate

(B) Deal with health issue

(C) Provide psychosocial support
(D) Planning for meetings

The model which is based on economic
view of decision making grounded in goals/
objectives, alternatives, consequences
and optimality is the

(A) Political Model

(B) Process

(C) Rational Model

(D) Behaviour Model

are rewards an individual is
given when he has performed his role
to the expectations of the group.

(A) Recompense

(B) Requite

(C) Positive sanctions
(D) None of the above

culture is found in various groups
of the community which is sufficiently
distinct from the main culture.

(A) Sub-culture

(B) Counter culture

(C) Material culture

(D) Non-material culture

186.

187.

188.

189.

190.

Which one of the following terms was
first used by Kurt Lewin ?

(A) Group cohesion
(B) Group dynamics
(C) Culture

(D) Team work

It refers to the consistency of the
information obtained by a person when
re-examined

(A) Validity

(B) Reliability

(C) Standardisation
(D) Sensitivity

Hawthorne study was conducted by
(A) John Dewey

(B) Elton Mayo

(C) David Kolb

(D) Maclver

Customs, folkways are an example of
means of social control.

(A) Formal

(B) Informal

(C) Non-formal

(D) None of the above

The first test/scale developed by Binet
and Simon in 1905 to measure/assess
abilities

(A) Intelligence

(B) Personality

(C) Emotions

(D) Attitude
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is best suited to the treatment
of Neuroses.

(A) Psychodynamic therapy
(B) Psychoanalysis
(C) Culture therapy
(D) Systems therapy

This level measures magnitude or
quantitative size using measures with
equal intervals between the values

(A) Nominal scale
(B) Ordinal scale
(C) Interval scale
(D) Ratio scale

Guidelines for enriching a job is /are
(A) Establish client relationships
(B) Expand jobs vertically

(C) Open feedback channels

(D) All of the above

Following is/are the agencies of social
control

(A) School
(B) Family
(C) Media
(D) All of the above

The author of the book “Solution
Focused Group Work” which
emphasises on self help

(A) Gisela Konopka
(B) Gordon Hamilton
(C) John Sharry

(D) H.Y. Siddhiqui

196.

197.

198.

199.

200.

One of the ways in which the traditional

society can respond to the process of
modernization ?

(A) Supportive response
(B) Disruptive response

(C) Assimilative response
(D) All of the above

The sociologist who traces the

emergence of capitalism in the doctrines
of Protestantism ?

(A) Max Weber
(B) Jane Adams
(C) Michel Foucault
(D) Harry Edwards

In this type of leadership, the leader
takes decisions in consultation with his
subordinates

(A) Autocratic leader
(B) Democratic leader
(C) Functional leader
(D) Laissez -Faire leader

Data that is denoted by a numerical
value example - IQ Score, Age, Rank
held is called

(A) Qualitative data
(B) Quantitative data
(C) Mixed data

(D) None of the above

Gestalt therapy was developed by
(A) FrederichPerls

(B) Albert Ellis

(C) Aaron Beck

(D) Robert McCrae
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This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O&®00

Wrong Method

0800

Wrong Method

C®QCO

Correct Method

C@e0O0

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)




